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AUXILIARY EQUIPMENT PART II

Attempt ALL questions
Marksfor each part question are shown in brackets

(b)

Explain why a hydraulic actuator is preferred for a vessel's stabiliser over an
electrica actuator.

Sketch a hydraulic circuit for a single stabiliser, suitable for a constant pressure
system.

2. Sketch ahydraulic system for adjusting the angle of fin stabilisers, labelling ALL parts.

3. With reference to load sharing of a.c. generators:

(@
(b)

state the meaning of the term speed droop;

explain the effect of running generators in parallel with different speed droop settings
for EACH of the following:

(i)  when the generators are sharing the load equally;

(i)  when the load suddenly increases.

4. Describe, with the aid of a sketch, the operation of a diesel generator speed and load
sensing electronic governor, labelling the MAIN components.

5 (a

(b)

List FOUR reasons for a refrigeration compressor to stop unexpectedly, after running
for a short period.

Describe the faults which lead to TWO of the reasons for the stoppage, listed in part
(a).

6. Describe EACH of the following vapour compression refrigeration faults, outlining a
possible cause for EACH:

(@)
(b)
(©)

undercharge;
overcharge;

short cycling.
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The lifting arrangement shown in the figure, has two dlings, A, with a SWL of 5 tonnes, four
dings, B, with a SWL of 2.5 tonnes with aring and beam each of which have a SWL of 12
tonnes.

Explain the suitability or otherwise of this arrangement for lifting a generator engine,
including flywheel, weighing 8.5 tonnes that has certified lifting points, 2 at each end of the
entablature, 6 m apart.

Bm

Fig Q7

Describe the annual airtight integrity test and examination that is required to be carried out
on an inflatable or rigid inflatable craft.

(@) State the purpose of the collison bulkhead and the regulations appertaining to its
dimensions and position.

(b) Explain the difference between A, B and C class bulkheads.
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